Efficiency vs P,

0.0, :
o : : :

D .009F------wwrieeeeenee ARRRIEIERS REREEEEE
> H H H

D.008F---woeeieeeeeeen Beeeseeenen e
(< : : :

D007 wwrereieeeeeees RRREEIERS REREEREE
O H H

0.00Bf-----wxvviseeeeenees Beeeseeenen e
0,005 -----x-wineeeeeees e o
0.004f -+ P Feeeeeeeeen e
0.003f-+--e-eeiereneeness Feoernnenesd o
0.002 e Feeeeeeeeen e
0.001 Fieee Beoeeeees e

0 [
S 11 S e oo

Ratio

0.9F---{-+f

107 1 10 prT (Ge\})o3

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom

Efficiency vs ¢

0.0
2]
.009
(&)
9.008
‘©
§9.007
(]
0.006
0.005
0.004
0.003
0.002
0.001:

L LB LA LB BN BN RN RRB R LRRS.

=3

1.0 H

Ratio

||'-||||




	Contents
	Page 1


